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 µtrimmed = 2.08

 µtrimmed = 2.85
 µtrimmed = 2.72  µtrimmed = 2.70

 µtrimmed = 2.88

 pBonferroni−corrected = 0
 pBonferroni−corrected = 0

 pBonferroni−corrected = 0
 pBonferroni−corrected = 0

 pBonferroni−corrected = 1.84e−06
 pBonferroni−corrected = 0.000198

 pBonferroni−corrected = 0.023
 pBonferroni−corrected = 0.039
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e
value

F trimmed−means(3.80,842.81) = , p = NA, δR−avg
AKP  = −0.17, CI95% [−0.50, 0.15], npairs = 371

PC.ae.C38.5

Pairwise test: Yuen's trimmed means test ; Comparisons shown: only significant


